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The graph of y = 16 - x? is shown bel - @ o The velocm v metres per second, of a particle at time f seconds is given by the equation ’;;h:z‘f;
ow for values of x from 0 to 3 ’ =tP+4r7+ 1
A table of values of v for values of tbetweenz=0and r=3 is given below.
{
t 0 1 2 3
v 1 6 25 64
The graph of the equation is drawn below.
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Use the trapezium rule, with the f 20 P e
th , with the four ordinates x = 0, x = : Ry
e region bounded by the curve, the x-axis, the )'-ax1sxa-m dlth)f; h:ea;ldg 3, to estimate the area of Emma Ra RS
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l (a) Use the trapezmm rule with three strips of equnl width to find the approximate area of the
shaded region between the curve and the t-axis fromy =0 t0 £ = 3.
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(b) The area found in part (a) represents one of the following.

Average Speed  or Velocity or Acceleration or or Time

Circle the correct answer. {1l
Turn over.
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The graph below shows the speed of a train, in m/s, over a period of 100 seconds starting at time
" t=0 seconds.
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(a) Estimate the acceleration of the train at time ¢ = 40 seconds.
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(b) The table below gives the speed of the train between ¢ =70 and ¢ = 100.

Time ¢

¢ is) 70 80 9% 100
S .| of .

(‘,;): 36 29 1-8 0

Use the trapezium rule with the values taken from the table to estimate the distance, in

metres, travelled by the train between £ = 70 and ¢ = 100 seconds.
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Turn over.
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